
 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

KE3 -  tupapaYf;fhd mbg;gilfs;  
ghpe;Jiuf;fg;gl;l tpilfs; kw;Wk; Gs;spaply; topfhl;b 

 

Suggested Answers and Marking Grid 
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gphpT 1 

tpdh 01  

  

1(a) 

 
1.1.  

 

rhpahd tpil: A 
rkj;Jtk;> tpUj;jpKiw> vspikj; jd;ik> epr;raj; jd;ik   
 
 
1.2.  
 

 

rhpahd tpil: C 
fz;b efupy; cs;s tjptpl ,y;yk; xd;wpy; ,Ue;J ngw;w Njwpa thlif 
tUkhdk; &gh 1>800>000 
 
 
 
1.3.  

 

rhpahd tpil: D 

40% 
 
1.4.  

 

rhpahd tpil: C 
30 nrg;lk;gh; 2016 kw;Wk; 30 etk;gh; 2016 
 

fw;wy; ntspg;ghL:  
1.1.1 tupapaypd; nghUshjhu kw;Wk; r%fj; njhopw;ghLfis mwpjy; 
 

fw;wy; ntspg;ghL:  
2.2.3 Vida tUkhd %yq;fspy; ,Ue;J epajpr; rl;l tUkhdj;jpid 

fzpg;gpLjy; (thlif> Njwpa Mz;Lg;ngWkjp> tl;b> gq;F ,yhgq;fs;> 
,iw> Mz;Lj; njhif> mjph;\;l ,yhg rPl;L> ge;jak;> 
#jhl;lj;jpypUe;jhd ntw;wp kw;Wk; Vida tUkhd %yfj;jpypUe;J) 

 

fw;wy; ntspg;ghL:  
3.1.4 rpwpa kw;Wk; eLj;ju mstpyhd fk;gdpf;fhd nkhj;j tUkhd tup 

kw;Wk; kpFjp tUkhd tupapidf; fzpg;gpl;L tpsf;Fjy;. 
 

fw;wy; ntspg;ghL:  

4.4.1 “Ra kjp;g;gPl;bd;”; mbg;gilapy; cupa jpfjpapy; tup nrYj;Jk; 
nghWg;G njhlu;ghf tpsf;Fjy;. 

4.1.1 jdpegu; my;yJ xU fk;gdpapd; “tUkhdj; jpul;bid” 
rku;g;gpg;gjw;fhd re;ju;g;gq;fis Fwpg;gply;. 
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1.5.  

 

rhpahd tpil: A 
&gh. 3>800>000 

 

1(b) 

 

1.6.  

 

 
1. cs;ehl;L ,iwthpj; jpizf;fsk; 
2. khfhz tUkhdthpj; jpizf;fsq;fs; 
3. Rq;fj; jpizf;fsk; 
4. fyhy; thpj; jpizf;fsk; 

 

1.7.  

 
1. rl;l epajpg; gbahd thlif tUkhdk; = &gh.180,000 

nra;if. 

nkhj;j thlif  25,000 x 12   =&gh. 300,000 (¼ Gs;sp) 

fopf;f: Nrhiythpfs; 200,000 x 30%  =&gh. (60,000) (¼Gs;sp) 

        =&gh.  240,000  

fopf;f: jpUj;j tpLnjhif 240,000 x 25%  =&gh. (60,000) (¼Gs;sp) 

Njwpa thlif       =&gh.  180,000 (¼Gs;sp) 

 

Nrhiythp kjpg;gPL      =&gh.200,000   (¼Gs;sp) 

fopf;f: jpUj;j tpLnjhif 200,000 x 25%  =&gh. (50,000) (¼Gs;sp) 

Njwpa Mz;Lg; ngWkjp     =&gh. 150,000  (¼Gs;sp) 

 

thptpjp thlif tUkhdk;  &gh. 180,000 (Njwpa thlif) (¼Gs;sp)  

Marking Scheme fw;wy; ntspg;ghL:  
5.2.1 rpwpa my;yJ eLj;ju tpahghuj;jpdJ Njrj;ij fl;b vOg;Gk; tupapd; 

(NBT) gpuNahfq;fis gjpT nra;tjw;fhd msTNfhYld; tpsf;Fjy;. 
 

fw;wy; ntspg;ghL:  
1.2.1 ,yq;ifapy; gpd;tUk; tup njhlu;ghd mjpfhuKila epWtdq;fspd; 

tfpghfk; tUkhd tup jpizf;fsk;> khfhz tUkhdj; jpizf;fsk;> 
Rq;fj; jpizf;fsk; kw;Wk; fyhy; tup jpizf;fsk; 

 
 

fw;wy; ntspg;ghL:  

2.2.3 Vida tUkhd %yj;jpypUe;J epajpr; rl;l tUkhdj;jpid fzpg;gpLjy; 
(thlif> Njwpa Mz;Lg; ngWkjp> tl;b> gq;F ,yhgq;fs;> ,iw> 
Mz;Lj; njhif> mjph;\;l ,yhg rPl;L> ge;jak;> #jhl;lj;jpypUe;jhd 
ntw;wp kw;Wk; Vida tUkhd %yfj;jpypUe;J) 
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1.8.  

 

  nrhj;J mfw;wypyhd ,yhgk; / el;lk; = &gh. 120,000 

 
nra;if (&gh.) 
,yhgk;  = (tpw;gid tpiy – thpf;fhd Fiwj;J vOjpa ngWkjp) 
tpw;gid tpiy = 520,000 ( ½ Gs;sp) 
thp. F. v. ng =2,000,000-(2,000,000 x 20% x 4 tUlq;fs;) ( 1 Gs;sp) 
 = 400,000  
,yhgk;  = 520,000-400,000 ( ½ Gs;sp) 
 = 120,000 

  

1.9.  

 

 

1.  

a. thp Nrfhpg;ghsh; xUtiu epakpj;J mirAk; nrhj;Jf;fisf; ifafg; 
gLj;jp mtw;iw tpw;gid nra;tjd; %yk; ngw Ntz;ba thpfis <L 
nra;jy; 

b. ePjpthd; xUth; Kd;ghf rl;l eltbf;if Nkw;nfhz;L jz;lg;gz 
tbtpy; thpj; njhiffisg; ngw;Wf; nfhs;sy; 

c. ePjpthd; ePjpkd;wpd; Clhf fhty;Jiw kh mjpgUf;F mwptpj;jy; 
xd;iw toq;fp ehl;il tpl;L ntspNaWtjidj; jLj;jy; 

 

(xt;nthd;Wf;Fk; 1 Gs;sp tPjk; VNjDk; ,uz;L= 2 Gs;spfs;) 

 

 

 

 

 

 

 

fw;wy; ntspg;ghL:  
2.2.1 %yjd nrhj;Jf;fspd; mfw;wy; kw;Wk; %yjd tpL njhif kw;Wk; 

mDkjpf;fg;gl;l kw;Wk; mDkjpf;fg;glhj nryTfisf; fUj;jpy; vLj;J 
rpwpa my;yJ eLj;ju mstpyhd thzpgk;> tpahghuk;> caH njhopy; 
my;yJ fz;zpaj; njhopypUe;jhd epajpr; rl;l tUkhdj;jpid 
fzpg;gpLjy; 

fw;wy; ntspg;ghL:  
 
4.4.5 tUkhdtup rl;lj;jpd; fPo; fhzg;gLfpd;w mwtPl;L nraw;ghLfis 

epuy;gLj;jy; 
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1.10.  

 
fhyhz;Lf;fhd nrYj;j Ntz;ba ng. Nr. tup: &gh. 247,500 

 

ntspaPl;L thp      

my;ghtpd; tpw;gid(4,500,000 x 11%) (¼ Gs;sp)                 =  495,000(¼Gs;sp) 

gPl;lhtpd; tpw;gid (ng. Nr. thpapy; tpyf;F) (¼Gs;sp)      =                  0(¼Gs;sp) 

nkhj;j ntspaPl;L thp      =  495,000 

fopf;f:  

Nfhuf; $ba cs;sPl;L thp (360,000(¼Gs;sp)-30,000) 30,000 (¼Gs;sp) x 

4.5/6( ½ Gs;sp)                                                                          = (247,500) 

kpFjp nrYj;j Ntz;baJ     =  247,500 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

fw;wy; ntspg;ghL:  

5.1.2 rpf;fyw;w Neubahd rk;gtq;fisf; nfhz;L nrYj;j Ntz;ba tupia 
fzpg;gpLjy; 

Gs;spaply; topfhl;b 
xt;nthU tpdhTk; 2 Gs;spfisf; nfhz;Ls;sd.  
nkhj;jk; 10 Gs;spfs; 
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gphpT 2 

tpdh 02 

tiuaWj;j Nehkl; cw;gj;jpahsh;fs; (jdp) 
fk;gdp  
tUkhd thpg; nghWg;Gf; fzpg;gPL 

thp kjp Mz;L 2015/2016 

&gh. &gh. &gh. 

Gs;sp 

1/4 

rl;l epajpg; gbahd tpahghu ,yhgq;fs; 100,000,000 1/2 

tl;b tUkhdk; 
epiyahd itg;Gf;fs; kPjhd tl;b tUkhdk; 

$l;Lf: ep. it. thpf; fopg;G 180,000 x 1/9 
epiyahd itg;Gf;fs; kPjhd nkhj;j tl;b tUkhdk; 

180,000 

20,000 

200,000 200,000 

3/4 

jpiwNrhp cz;bay;fs; kPjhd tl;b tUkhdk; 
$l;Lf: fopf;fg;gl;l ngaustpyhd thp  45,000 x 1/9 
jpiwNrhp cz;bay;fs; kPjhd nkhj;j tl;b tUkhdk; 

45,000 
5,000 

50,000 50,000 

3/4 

rl;l epajpg; gbahd tl;b tUkhdq;fs; 250,000 250,000 1/4 

gq;fpyhg tUkhdk; 
Njwpa gq;fpyhgg; ngWif (,Wjp thp fopf;fg;gl;lJ) 90,000 thp tpjpf;f 

KbahJ 
1/4 

tUkhd thp tpyf;fspf;fg;gl;l gq;fpyhgq;fs; 50,000 tpyf;F 1/4 
rl;l epajpg; gbahd gq;fpyhg tUkhdk; - - 1/4 
nkhj;j rl;l epajpg; gbahd tUkhdk; 100,250,000 1/4 
fopf;f: gphpT 32 ,d; gbahd fopg;gdTfs; 1/4 
njhopw;rhiy fl;ll eph;khzj;jpw;fhd tl;bf; nfhLg;gdT 
gq;F th;j;jf el;lk; - %yjd el;lk; Mifahy; 
mDkjpf;fg; gltpy;iy 

1,200,000 

- 

1/2 

1/2 

gphpT 32 ,d; gbahd nkhj;jf; fopg;gdTfs; 1,200,000 (1,200,000) 1/4 

thp kjp tUkhdk; 99,050,000 1/4 
fopf;f: gphpT 33 ,d; gbahd fopg;gdTfs; 1/4 
jifikf; nfhLg;gdTfSf;fhd mDkjpg;Gf;fs; vy;iy Allowance 

a) mq;fPfhpf;fg;gl;l jh;k ];jhgdj;Jf;fhd gz

tbt ed;nfhilfs;   750,000  

t.k.tU 

,d; 1/5 
my;yJ 
500>000 
Mfpatw;wp
y; 
Fiwe;jJ  

500,000 1/2 

fw;wy; ntspg;ghL: 
3.1.1 NtWgl;l tUkhd tup tPjq;fs; gpuNahfpf;fg;glj; jf;f NtW tifg;gl;l 

fk;gdpfis ,dq;fhzy; 
3.1.2 thlif> tl;b> gq;Fyhgk;> tpahghuj;jpy; ,Ue;J fpilf;Fk; ,yhgk; 

Nghd;wtw;wpy; ,Ue;J fk;gdpapd; epajpr;rl;l tUkhdj;jpidf; fzpg;gPL 
nra;tjpy; gpuNahfpf;fg;gLk; gpuj;jpNafkhd nrk;ikahf;fy;fis 
tpsf;Fjy; (fk;gdpfSf;fpilapyhd CLnray;fs; njhlu;ghd 
nrk;ikahf;fy;fs; ePq;fyhf.) 

3.1.3 Njitahd epajpr;rl;l fopg;gdTfs; njhlu;ghf> fk;gdp xd;wpd; nkhj;j 
epajpr;rl;l tUkhdk;> tup kjp tUkhdk;> tup tpjp tUkhdj;jpidf; 
fzpj;jy; 

3.1.4 rpwpa kw;Wk; eLj;ju mstpyhd fk;gdpf;fhd nkhj;j tUkhd tup kw;Wk; 
kpFjp tUkhd tupapidf; fzpg;gpl;L tpsf;Fjy;. 
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b) “ekf;fhf ehk;” epjpaj;Jf;fhd ed;nfhilfs;

400,000  

N/A 400,000 1/2 

gphpT 33 ,d; gbahd nkhj;jf; fopg;gdTfs; 900,000 (900,000) 1/4 
thpkjp tUkhdk; 98,150,000 1/4 
thpg; nghWg;Gf; fzpg;gPL 

Vw;Wkjp ,yhgj;jpd; kPJ 98,300,000 x 40,000,000 / 

100,400,000 

39,260,000 @12% 4,711,200 1/2 

kpFjp thpkjp tUkhdj;jpd; kPJ 58,890,000 @28% 16,489,200 1/4 
thpkjp tUkhj;jpd; kPjhd thp 98,150,000 21,200,400 1/4 
gpNuupf;fg;gl;l gq;fpyhgj;jpd; kPjhd thp 5,000,000 @10% 500,000 1/4 
nkhj;j tUkhd thp 21700,400 1/4 
fopf;f: thpf; fopg;gdTfs; 1/4 
epiyahd itg;G tl;b kPJ fopf;fg;gl;l ep.it.thpfs; 
(180,000 x 1/9) 

20,000 1/4 

jpiwNrhp cz;bay; tl;b kPjhd ngausT thpf; fopg;G 
45,000 x 1/9 

5,000 1/4 

Ra kjpg;gPl;by; nrYj;jg;gl;l thpfs; 18,000,000 1/4 
nrYj;jpa gq;fpyhg thpfs; 500,000 1/4 
nkhj;j thpf; fopg;gdTfs; 18,525,000 (18,525,000) 1/4 
nrYj;j Ntz;ba kpFjp thp 3,175,400 1/4 
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gphpT 3 

tpdh 03 

jpU. cj;ghy ngNuuh  

thp kjp Mz;L 2015/2016 
tUkhd thpg; nghWg;Gf; fzpg;gPL 

&gh. &gh. &gh. 

Gs;sp 

¼ 

Ntiytha;g;G tUkhdk; 

Njwpa rk;gsk; 
$l;Lf: jpU. ngNuuhtpd; rk;gsj;jpy; ,Ue;jhd C. Nr. 

epjpf; fopg;gdT       180,000/12 x 8 
ciof;Fk; NghJ nrYj;Jk; thpf; fopg;gdT  
nkhj;j rk;gsk; 
Fwpg;G: C. Nr. epjpf;fhd njhopy; nfhs;NthuJ gq;fspg;G 
Xa;T fhy ed;ikfs; vd;w mbg;gilapy; thp tpjpf;fj; 
jf;fit MFk;. 01.04.2011 Kjy; thp tpyf;fspf;fg; gl;lit. 

1,340,000 

120,000 

40,000 

1,500,000 1,500,000 

1/4 

1/2 

1/4 

1/4 

1/4 

gz;biff; fhyf; nfhLg;gdTfs; 50,000 1/2 
kPsspg;gg;gl;l kUj;Jtr; nryTfs; 60,000 1/2 
tPl;L trjp ed;ikfs; 

(a) thlifg; ngWkjp   200,000 + (200,000 x 20%)  

(b) chpikahsUf;F nrYj;jg;gLk; nkhj;j thlif  

(25,000 x 12) 

,uz;bNy cah;thdJ  
Fwpg;G: nkhj;j rk;gsq;fs; 1.8 kpy;ypaid tpl FiwthdJ. 
MfNt ed;ikfspd; ngWkjp &gh 120>000 f;F 
tiuaWf;fg;gl;Ls;sJ 

240,000 

300,000 

300,000 

120,000 

1/2 

1/2 

1/4 

1/4 

fw;wy; ntspg;ghL: 

2.2.1 %yjd nrhj;Jf;fspd; mfw;wy; kw;Wk; %yjd tpL njhif kw;Wk; 
mDkjpf;fg;gl;l kw;Wk; mDkjpf;fg;glhj nryTfisf; fUj;jpy; vLj;J 
rpwpa my;yJ eLj;ju mstpyhd thzpgk;> tpahghuk;> caH njhopy; 
my;yJ fz;zpaj; njhopypUe;jhd epajpr; rl;l tUkhdj;jpid 
fzpg;gpLjy; 

2.2.2 njhopy; tUkhdj;ij fzpg;gpLjy; (vy;yh gzuPjpahd kw;Wk; gz 
uPjpaw;w ed;ikfs; cs;slq;fyhf kw;Wk; Xa;T+jpa ed;ikfs; 
ePq;fyhf) 

2.2.3 Vida tUkhd %yj;jpypUe;J epajpr; rl;l tUkhdj;jpid fzpg;gpLjy; 
(thlif> Njwpa Mz;Lg;ngWkjp> tl;b> gq;F ,yhgq;fs;> ,iw> 
Mz;Lj; njhif> mjp];l ,yhg rPl;L> ge;jak;> #jhl;lj;jpypUe;jhd 
ntw;wp kw;Wk; Vida tUkhd %yfj;jpypUe;J) 

2.2.4 ,iwtupr; rl;lj;jpd; 13 MtJ ruj;jpd; fPo; jdpegUf;F my;yJ %yjd 
,yhgj;jpw;F gpuNahfpf;fj;jf;f ehdhtpj tuptpyf;fspg;gpid ,dk; 
fhZjy; 

2.3.1. gps;isapdJ tUkhdj;jpid xd;W Nru;j;jy; kw;Wk; rk;ge;jg;gl;l 
epajpr;rl;l fopg;gdTfis fUj;jpy; vLj;J nkhj;j epajpr;rl;l 
tUkhdk;> tupkjptUkhdk; kw;Wk; tuptpjp tUkhdj;ij fzpg;gply; 

2.4.1 xU jdpegUf;F (fhyj;Jf;F fhyk; mwpKfg;gLj;jg;gl;Ls;s mjp $ba 
tupt Pjq;fs; cs;slq;fyhf) gpuNahfpf;fj;jf;f tuptPjq;fis ,dk; 
fhZjy. 

2.4.2 xU jdpegUf;fhd nkhj;j tUkhd tup nghWg;gpid fzpg;gpLjy; 
2.4.3 gy;tifg;gl;l tuptuTfis fUj;jpy; nfhz;L nrYj;j Ntz;ba kpFjp 

tupapid fzpg;gpLjy;. 
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rl;l epajpg;gbahd Ntiytha;g;G tUkhdk;  1,730,000 1,730,000 1/4 
 

 

    

njhopy;rhh; tUkhdk; -  MNyhridr; Nrit      
Njwpa ,yhgj;jpyhd thp Nehf;fj;Jf;fhd rPuhf;fq;fs;  + -   
Njwpa ,yhgk; 600,000   1/4 
kidtpf;F nrYj;jg;gl;l rk;gsq;fs; mDkjpf;fj; jf;f 
nrytpdk; MFk;. ,J jpU. ngNuuhtpd; rl;l epajpg;gbahd 
tUkhdj;Jld; $l;lg;gLk;.  

 

- 

 

- 

  

1/4 

mr;rply; kw;Wk; fhfpjhjpfs; - KOikahff; fopf;fg;gLk;  - -  1/4 
tpsk;gug;gLj;jy; nryTfs;  

gjtp ntw;wpl tpsk;guk; 12,000  KOikahff; fopf;fg;gLk; 

th;j;jf tpsk;guk;          48,000 x 25%  

 

 

12,000 

   

1/4 

1/2 
fzdp nfhs;tdT- %yjd nryT  80,000   1/4 
nghOJNghf;F nryTfs; - fopf;f KbahJ 20,000   1/4 
fzf;fPl;Lj; Nja;khdk; 32,000   1/4 

kpd;rhuk; kw;Wk; njhiyNgrp  – 80,000 x 80% jdpg;gl;lJ 64,000   1/2 
Nja;khdf; fopg;gdTfs; 

jsghlk; (2013/2014)     60,000 x 20% 

fzdpfs; (2015/2016)    80,000 x 25% 

  

12,000 

20,000 

  

1/2 

1/2 

 808,000 32,000  1/4 

 (32,000)    
rl;l epajpg;gbahd njhopy;rhh; tUkhdk;   776,000 1/4 
     
tl;b tUkhdk;     
epiyahd itg;Gf;fs; kPjhd tl;b (,Wjp epWj;jp itj;j 
thp fopf;fg; gl;lJ) 

276,000 thp 
tpjpf;f 
KbahJ 

- 1/2 

jpiwNrhp cz;bay;fs; kPjhd tl;b (,Wjp epWj;jp itj;j 
thp fopf;fg; gl;lJ) 

90,000 thp 
tpjpf;f 
KbahJ 

 1/2 

rl;l epajpg;gbahd tl;b tUkhdk;   - 1/4 
     
gq;F tpw;gid tUkhdq;fs;     
gq;F tpw;gidapy; ,Ue;jhd ,yhgk; 300,000 xU 

tUkhd 
%ykhff; 
fUjp thp 
tpjpf;f 
KbahJ 

- 1/2 

     
thlif tUkhdk;     

nkhj;j thlif                      50,000 x 12 

fop: nrYj;jpa Nrhiy thp                           200,000 x 30%                                                     

 

fop: jpUj;jg; gb                                               540,000 x 25% 
Njwpa thlif 

 
Nrhiy thp kjpg;gPL 

fop: jpUj;jg; gb                                               200,000 x 25% 
Njwpa Mz;Lg; ngWkjp 
Fwpg;G: Njwpa thlif Njwpa Mz;Lg; ngWkjpapYk; 
mjpfk; Mifahy; Njwpa thlif thp tpjpf;fj; jf;f 
thlif tUkhdkhff; nfhs;sg;gLk;.  

   600,000 

(60,000)      

540,000 

(135,000) 

405,000 

 

200,000 

 

(50,000) 

150,000 

 

405,000 

 

 

 

 

 

 

 

 

 

 

 

 1/4 

1/4 

1/4 

1/4 

1/4 

 

1/4 

 

1/4 

1/4 

 
1/4 

rl;l epajpg;gbahd thlif tUkhdk;   405,000 1/4 
     
gq;fpyhg tUkhdk;     
ehky; myFg; nghWg;ghl;rpapy; ,Ue;jhd gq;fpyhgk;.  25,000 tpyf;F  1/4 



10 
 

nlhNahl;lh yq;fh nghJ epuy; gLj;jpa fk;gdpapy; 
,Ue;jhd Njwpa gq;fpyhgk; 

Fwpg;G: 10% ,Wjp epWj;jp itj;j thp thp kjpg;gPl;L 
tUkhdj;jpd; xU gFjp MfhJ.  

45,000 thp 
tpjpf;f 
KbahJ 

  

1/4 

nkhj;j gq;fpyhg tUkhdk; 0 0 0 1/4 

     
kidtpf;F nrYj;jg;gl;l rk;gsq;fs;   150,000 1/4 
gps;isapd; tUkhdf; $l;Ljy;  
tl;b tUkhdk; (nkhj;jk;) 

   

45,000 

 

1/4 

     
nkhj;j rl;l epajpg; gbahd tUkhdk;   3,106,000 1/4 
fop: gphpT 32 ,d; gbahd fopg;gdTfs;     
tPl;Lf; fld; tl;bf; nfhLg;gdT 

fld; ml;il tl;b – fopf;f KbahJ 
 

 

123,000 

- 

 

 

1/4 

1/4 
Fwpg;G: Ntiy tha;g;G my;yhj tUkhdj;Jf;fhd 
fopg;gdtpd; tiuaiw (3,106,000 – 1,730,000) &gh. 1, 376,000. 

   1/4 

gphpT 32 ,d; gbahd nkhj;jf; fopg;gdTfs;  123,000 

 

(123,000) 1/4 

thpkjp tUkhdk;   2,983,000 1/4 
fop: gphpT 33 ,d; gbahd fopg;gdTfs;     
thp tpLifj; njhif  500,000  1/4 
jFjp tha;e;j nfhLg;gdTfSf;fhd mDkjpg;G  vy;iy    

c) mur ghlrhiyf;fhd ed;nfhil                       100,000 N/A 100,000  1/4 

d) mq;fPfhpf;fg;gl; jh;k ];jhgd ed;nfhil          80,000 t.k.tU 

,d; 1/3 
my;yJ 
75>000 ,y;; 
Fiwe;jJ 

75,000  1/4 

e) Fzg;gLj;j Kbahj Neha;fSf;fhd kUj;Jtf; 
fhg;gPLf;fhd jtizf; fl;lzk; 

N/A 48,000  1/4 

f) Ntiytha;g;G tUkhdj;Jf;fhd jFjp tha;e;j 
nfhLg;gdTfs;  

N/A 250,000  1/4 

Fwpg;G: (d) jtph;e;j jFjp tha;e;j nfhLg;gdTfSf;fhd 
fopg;gdT kpFjp Ntiy tha;g;G my;yhj tUkhdj;jpd; 

(1,376,000 – 123,000) &gh. 1,253,000f;F tiuaWf;fg; 
gl;Ls;sJ.  

    

 

1/4 

gphpT 33 ,d; gbahd nkhj;jf; fopg;gdTfs;  973,000 (973,000) 1/4 
thptpjp tUkhdk;   2,010,000 1/4 

     
thpg; nghWg;Gf; fzpj;jy;     
KjyhtJ 500,000 @ 4% 20,000 1/4 
mLj;j 500,000 @8% 40,000 1/4 
mLj;j 500,000 @12% 60,000 1/4 
kpFjp njhopy;rhh; tUkhdj;jpd; kPJ 510,000 @12% 61,200 1/4 
nkhj;j tUkhd thp 2,010,000  181,200 1/4 
fopf;f: thpf; fopg;gdTfs;     
ciof;Fk; NghJ nrYj;jpa thpf; fopg;gdTfs;  40,000  1/4 
Ra kjpg;gPl;by; nrYj;jg;gl;l thpfs;  40,000  1/4 
nkhj;j thpf; fopg;gdTfs;  80,000 (80,000) 1/4 
nrYj;j Ntz;ba kpFjp thp   101,200 1/4 

 

 

 

 

 




